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2. Dancing Planets
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Outline



Construct   
MMT(m,a) m = modulus

a = multiplier

MMT(12, 2)
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Big Question: Given m and a, what does MMT(m,a) 
look like?

hps://times-tables.lengler.dev/

First,  fix a at a “small value” and increase m.

https://times-tables.lengler.dev/


MMT(16,2) MMT(50,2) MMT(100,2)



Guess: For large enough m, MMT(m,a) looks like a 
curve with a-1 “petals”.

a = 2 a = 3 a = 4

a = 5 a = 6 a = 7



Epicycloid: 

https://www.desmos.com/calculator/dbbfkfgp1w

https://www.desmos.com/calculator/mjjv8abvbo

https://www.desmos.com/calculator/dbbfkfgp1w
https://www.desmos.com/calculator/mjjv8abvbo


Epicycloid: 

To get the curve with a-1 petals, 
set α = a and β = 1

Guess: For large enough a, 
MMT(m,a) looks like the 

epicycloid with α = a and β = 1.



Maybe not….



Families of Tables

m = 2a 

m = 2a - 2 m = 2a + 2



Families of Tables
m = 2a 

m = 2a - 2 m = 2a + 2

meta

m = b*a 

m = b*a - b m = b*a + b



m = b*a 

m = b*a - b

m = b*a + b





Question: What if m is not divisible by b? But we want to 
keep the multiplier an integer.
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What the !@#% is 

going on???



Dancing Planets

https://x.com/matth
en2/status/143771
6084686299138

https://x.com/matthen2/status/1437716084686299138
https://x.com/matthen2/status/1437716084686299138
https://x.com/matthen2/status/1437716084686299138
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A Topological Perspective
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Aliasing



m = 2a 

m = 2a - 2

m = 2a + 2









Thanks for coming!

more details craft instructions


